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I.CHOOSE THE CORRECT OPTION:-
1. Which among the following activities is not related to primary sector?
(a) Fishing (b)Natural gas extraction (c) Making of sugar (d) Mining

2. The economy is classified into public and private sectors on the basis of:
(a) employment conditions (b) the nature of economic activity
(c) ownership of enterprises (d) number of workers employed in the enterprise

3. Which of the following types of activities are covered in the secondary sector?
(a) It generates services rather than goods.

(b) Natural products are changed through manufacturing.

(c) Goods are produced by exploiting natural resources.

(d) It includes agriculture, forestry and dairy.

4. Disguised Unemployment means a situation where people are:
(a) Unemployed (b) Employed but earning less salary
(c) Employed but productivity is nil (d) Unemployed for a short period of time

5. Which of the following statements is true in respect of Public Sector?
(a) Big companies own most of the assets (b) Government owns the assets
(c) A group of people owns most of the assets (d) An individual owns most of the assets

6. A tire repair shop is considered to come under unorganized sector because,
(a) There is lack of job security (b) Workers have to work for longer hours
(c) There is no provision for paid leaves (d) All of these

7. The motive of public sector enterprises is:
(a) Profit making (b) Entertainment
(c) Social welfare and security (d) None of the above

8. What was the aim of MGNREGA 20057

(a) Provision of 100 days guaranteed employment (b) Unemployment allowances to the people
(c) Both of these (d) None of these
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9. Which of the following sector has emerged as the largest producing sector in India.
(a) Secondary sector (b) Tertiary sector (c) Primary sector (d) Agriculture

10. Workers in agricultural sector are .
(a) underemployed (b) over employed (c) unemployed (d) None of these

IILFILL IN THE BLANK

1. In developed countries, the sector has become the most important in terms of total
production.
Ans. Tertiary

2. The money value of all final goods and services produced within a country during a particular
year is called
Ans. Gross domestic product

3. The goods that are used as raw materials for further production are known as
Ans. Intermediate goods

4. MGNREGA stands for .
Ans. Mahatma Gandhi National Rural Employment Guarantee Act

5. Percentage share of employment is highest in sector.
Ans. Primary sector

6. Tertiary sector is termed as sector because it provides service to support
primary and secondary sectors.
Ans. Service sector

lll. WRITE TRUE / FALSE

1. Primary Sector is the largest producing sector in India.
Ans. False

2. Production of a commodity through exploitation of natural resources is an activity in the
Primary sector.

Ans. True

3. The main motive of private sector business is profits maximization.
Ans. True

4. In India, the mammoth task of measuring GDP is undertaken by Indian states.
Ans. False

5. Information and communication technology is associated with secondary sector.
Ans. False
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IV. ASSERTION AND REASON
In the question given below, there are two statements marked as Assertion (A) and Reason (R).
Read the statements and choose the correct option:

1. Assertion (A): A large number of workers are forced to enter the unorganized sector jobs, which
pay a very low salary. They are often exploited and not paid a fair wage.

Reason (R): The unorganized sector is characterized by small and scattered units. These are largely
outside the control of the government. There are rules and regulations but these are not followed.
Options:

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true but R is not the correct explanation of A.

C. Ais true but R is false.

D. Aiis false but R is true.

2. Assertion (A): Reliance Industries Limited is a privately-owned firm.

Reason (R): Government is a major stakeholder in Reliance Industries Limited.
Options:

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true but R is not the correct explanation of A.

C. Aiis true but R is false.

D. Ais false but R is true.

3. Assertion (A): In India, the primary sector is the largest employer.
Reason (R): The demand for services has increased enormously.
Options:

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true but R is not the correct explanation of A.
C. Ais true but R is false.

D. Alis false but R is true.

4. Assertion (A): In certain areas, government has to undertake heavy spending to ensure that
facilities are available to everyone in the society.

Reason (R): Some of the things needed by the society, require spending large sums of money,
which is beyond the capacity of the Private sector.

Options:

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true but R is not the correct explanation of A.

C. Alis true but R is false.

D. Ais false but R is true.
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